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Blodiversity

I would be able to explain and interprot factors that affact the biodiversity
of a given community

Explanation of Concept:
Biodlverslly describes the varisty of species living in a community.

A communlty's blodiversity depands on: specles richness (number of species) and the
relative abundance of specles that it comprises (the more evenly distributed, the batter),

Example:
Community | Community
A B
6 % 125 %
16 % 375 %
52% 125%
26 % 5%
Low High
Questions:

Multiple Cholce:

1. Which statement is true about biodiversity?
a) The bicdiversity of a community Is high when all species in the community
are equally distributed.
b} The biedlversity of a community is low when all speclss In the community ars
aqually distributed.
c) The biodiversity of a community is high when the number of spedies is low,
d} The blediversily of a community is low when the number of spacies is high.
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Blodiversity

I understand and can usa the defmition of blodiversity of a8 community
as 'the relative abundance of species it comprises’

Explanation of Concept

The number of speciea varies from one community to anather. To datermine the varety of a
community, the distibution of the number and types of specles ara studied. The relative
abundance of spacies that it comprises refers to a communlty's biogivarsity.

Questiona:

Short Answer:

1, Which of the following communities demonstratas the greatest bicdiversity? Explain your
answer.

a) 50 bears, 100 haras and 60 beavers live in a forest in the Abitibi region. Fir (25)
and birch (15) are the tree specles.

b} Spatrows and thrushes frequently visit my small urban back yard. The birds
feasted on the grapas from a vine.

©) 4 bears, 30 hares and 7 beavers llve in a forest in the Laurentlan region. Fir {5)
and birch (7) are the fres species.

Answers:

L C
2 Community A haa greatar bivdivarsiy. Eact tree spacies is mors avenly disiributed.

Working Document B Page 5

Shert Answer:
2. Park A has 10 pine treas, 8 fir trees, and 12 birch rees. Park B has 5 pine trees, 24

fir rees and 1 birch tree. Using the relative abundanca of each park, determine
which park has greater blodiversity.

Arzwers:

LA
2 Park A has greaisr bivatharsily, Each iree species is miom svenly aisirittad.

FarkA Park 8
Ping Trees 33 % 17 %
Fir Trees 7% 50 %
Birch Trees 0% 3%
il LS g - 2
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Disturbances

{ understand and can use the definition of a disturbance in 8 community

Pol.. Urind WoridA 110 |

Disturbances

Explanation of Concept:

An ecosystam can undesgo a serfes of svents that could lead fo an alteration in the pre-
exlating biofc of ablotlc factors, This in lum could lead to change in the relative
abundance of specles in that ecosystem. In such an event the ecosystem would be
described as having been disturbad,

Quastions:
Multiple Cholce:

1. Which of the following events would fead to the disturbance of an scoaystem?
a) Planting trees
b) Mud slide
c) Composting
d) Fog

Short Answer:

2. Apply your understanding of the definition of a disturbance to explain how the
construction of a hydroelaciric dem is detrimental to an ecosystern.

Answars:

B

2. Evosystams ara offen sffecisd by g conslrotion of dams Becaume the meed 1o #o0d 6 fand la contral the
fiow, davel, ofc of walar. i fhis process of fiooding many Aabitats are destroyed and conteminants dissafvag
i the water may bie fowic. ko addilion, 1o hulid & hydrelecic der, foresta mest be cleamd for the
consbuction of ta pawar plant. This ko hum desiroys mora Asbitats
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£ Which is an example of a human disturbance?

a)

Short Answer:

3. Which is a mejor source of environmantal disturbance, natural o human? Explain
YOUT answar.

Answars:

.8

2 B8

4. Hurmaps are & mejor saurce of arvronmenta disturbances. Humans have 8 damaging affect ar ecosysion,
wiallier smadl oF large aoaky, mars fraquently (a dally occumenca compamd (6 @ MO/ rendom accurance of
narors! diturbances).

e = - *
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I would be able lo explain and interpret how certain factars can disturb the
ecological balance of a communily (e.g. human activity, natural disasters)

Explanation of Concapt:

The impact of a disturkance is dapendant on the type of disturbance, and how often the
disturbance occura.

Typses of digturbances:

Natural Human

A natural disturbance is an event triggated
by environmental phenomena that can
damage an ecoaysatam,

Human activity canl sevarely efisct the
environment. Human disturbances are a
major source of environmental damage to

Examples: ecosystems.
Earthquakes, volcanic eruptions, flcods,
droughts, forest fires, storms Examplas:
Oil spills, mining, logging operations,
conslruction of hydroslectric dams, large
scabe burning fossil fuels
Questions:

Multiple Cholce:

1. Which of the tollowing statements Is false?
8) Drought Is & natural disturbance.
b) An oil spill is a natural disturbance.
©) Flood from heavy rain is a natural disturbance.
d) The fishing Industry is a human disturbancs.
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Trophle Relationshlps

I understand and can describe the trophic levels (producers, autotrophs),
consumers (helerolraphs), and decomposers In an ecosystem,

Explanation of Concept:

Living organlsms need energy. Organisms at the same position in a food chaln are
known as a trophic Jevel. Organisms In varlous trophic levels Interact with each other
which results in trophic relationships.

Producers:
* Convert inorganic matter {carbon dioxide, water) info organic matter {glucose)
through photosynthesis;
v are aytotrophs;
* They intreduce energy and matter to ecosystems.
+ E.g. Plants, Algae, etc.

Consumers:

* These ars organiams that get their energy by eating othar living arganisms,

= They ara alsc known as Heferotrophs because they cannot make thelr own
food:

* Primary consumers or First-Crder Consumers consume producers.

* Second, Third or Fourth level consumers are usually carnivores as they consums
animals that precade tham In a food chain. Some animals ars also cmnivores as
they eat both plants and animals.

Decomposaers:

Convart organic matter Into Inorganic matter

Are connected to ali frophic levels.

* They feed off of dead crganic matter like leaves and carcasses.
They are heterotrophs.

* E.g. Worms, bacleria, insects, eic.

Becandory
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Questions:
Multiple Cheice:

A food web is shown belaw.

Food Web

Lynx
Red Tailed Hmk\‘%ed Fox
Snawshoe Hare Shrew
/ \ /'Ilects

Willow
White Spruce

1. Baged on the diagram, which organism can ba classified as a Primary
Consumer?

a) Red Talled Hawk
) Shrew

<) Willow

d) Snowshoe Hare

2. Based on the diagram, which organisms act both as a secondary and tertiary
consumer depending on the Individuat food chain they are involved in?
s} Shrew and Red Fox
b} Lynx and Red Fox
£} Lynx and Snowshoa Hare
d) Red Tailed Hawk and Insects

et g gy
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Trophic Relationships

 would be able fo expiain and interprat the relationships between the
trophic levels of a food web,

Explanation of Concept:

Producers, Consumars and D P can he ged in a FOOD CHAIN. Several
Feod Chains can be interconnacted and combined to form a FOOD WEB.,

The direction af the arrows in a food wab indicates the diraction of energy flow (The
energy of the eaten organism).

A, disturbance at any point of the Food Wab wilt produce other affectsfinbalances in the
Food wab and lower traphlc leval.
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Short Answer Questions:

1. Create a Food chain using the following organisms and tabel each organism
based on its trophic level.

Owl - Frog - Grass - Snake ~ Grasshoppar - Bacteria

2. Using the Food web provided in questions 1 and 2 of the multiple choice
questions indicate an example of a producer. Explain why producers can also be
callad autotrophs.

z B
Shorl Arswer Quesifans:

1 : Bruss, Primary Consumer: Gresshopper, Sacondery Constimes: Frog, Tertery Consumar
Snake, Fourth-Lava] Consumer: Owi, Decompasey; Bacteria (This lavel fa fakud fo i Jovois of (s food
chain a5 X ks fospanubte for the decumpostion of U dead organic malfar).

Exampls of a Producer; Spruca

2 - s Wilow or White
e becauss they can produce thelr awn food using tha SUNFghi, waler and
Cartion Dicwie. They are herefors, sa mufMiciont and am conaidamed to be hs Skt feval in the food chain
bocausa ey i food into S
= —
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Questions:
Multipte Cholcea:

1. Using the food web abave, indfcate which of the statemants below is true:

a) i tha shimp were to decreasa in number, the salmon would die off
becausa il iz the only source of food available for them.

b} The crab has no predators.

€} Small fish consume salmon,

d) The Increase of plankton woulkd be devastating to this food web because It
would consume many of the organisms at the lower trophic levels.

2. The Sunis linked to the plankton because:
a) Plankion glves the Sun energy.
b} Planktor uses the Sun's energy fo grow.,
¢) The Sun does nat affect the Plankton.
d) The 5un is considerad an organism.

Artreers:
Muitiple Chalce:
i a

2 8

s
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